
ПРЕСС ДЛЯ НАРЕЗКИ КАРТОФЕЛЯ ФРИ HURAKAN HKN-HC01 

1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



ПРЕСС ДЛЯ НАРЕЗКИ КАРТОФЕЛЯ ФРИ HURAKAN HKN-HC01 

2 
 

 

Поз Наименование детали 

1 Machine base 

2 Machine handle mounting seat 

3 Machine guide shaft 

4 Bar machine pressing head mounting seat 

5 Bar press head 

6 Strip machine blade mount 

7 Strip machine blade 

8 Strip machine blade pressure plate 

9 Pressure material handle 

10 Press material handle shaft sleeve 

11 Machine spring 

12 Round head nut M8  

13 Bolt M8X50 

14 Round head screw M6X25 

15 Bolt M8x68 

16 Round head screw M6X15 

 

 

 

 

 

 

 

 

 

 

 


